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8310-FM 

M.B.A.  IIIrd SEMESTER EXAMINATION, 2019 

Paper – VII 

Foreign Exchange Management  

Time: Three Hours 

Maximum Marks: 80 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 40] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

 
           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 20] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M& v& v& v& v 
Q.1 Small Questions - 

 NksVs iz’u & 
 (a) What is the acronym for the rates at which bank buy and sell foreign currencies? 

What is the commission charged by the bank is called and how it is measured? 

  fons’kh eqnzkvksa dks [kjhnus vkSj cspus ds fy, fdl ifjo.khZ 'kCn dk mi;ksx fd;k tkrk gS\ cSad 

 }kjk fy;k x;k deh’ku D;k dgykrk gS vkSj bls dSls ekik tkrk gS\ 

 (b) If USD/GBP = 1.0152/62, then what does it mean? If I Need to buy GBP 1,000,000 

against USD, then how many US$ should I carry? 

 ;fn USD/GBP = 1.0152/62 gS] rks bldk D;k eryc gS\ vxj eq>s USD ds cnysa GBP 

 1,000,000 [kjhnus dh vko’;drk gS] rks eq>s fdrus US$ ysus pkfg,\ 

 (c) Explain currency options. What are the two vanilla currency options called, 

Explain each?  

  eqnzk vkWI’kUl le>kb;sA nks oSfuyk eqnzk vkWI’kUl D;k dgykrs gSa] izR;sd dks le>kb;s\ 

 (d) Difference between currency forwards and stock forwards. (Any 3 differences) 

  eqnzk QkWjoMZ vkSj LVkWd QkWjoMZ ds chp vrajA ¼dksbZ 3 varj½ 

 (e) Define foreign exchange risk. How does exchange information system assist in 

managing foreign exchange risk? 

  fons’kh eqnzk tksf[ke dks ifjHkkf"kr djsaA ,Dlpast lwpuk iz.kkyh fons’kh eqnzk tksf[ke ds izca/ku 

 esa dSls lgk;rk djrh gS\ 

 (f) If I am expecting INR 12000 from my Indian client after 4 months product sold 

today? What currency exposure am I exposed to? Explain it. 

  vxj eSa vkt 4 eghus ds ckn vius Hkkjrh; xzkgd ls INR 12000 dh mEehn dj jgk gq¡\ eSa 

 eqnzk ds fdl izdkj ds tksf[ke esa gq¡\ bls le>kvksaA 

 (g) If United States has an expected inflation rate of 5% per annum and United 

Kingdom has expected inflation rates of 7% if relative PPP holds, which currency 

should appreciate and by how much? Explain the reason behind your answer? 

  ;fn la;qDr jkT; vesfjdk esa 5% izfro"kZ dh visf{kr eqnzkLQhfr nj gSA vkSj ;wukbVsM fdaxMe 

 us 7% izfro"kZ dh eqnzkLQhfr dh nj dh mEehn dh gS vxj lkis{k Ø; 'kfDr leku jgs rks 

 fdl eqnzk dh ljkguk djuh pkfg, vkSj fdrus }kjk\ vius mÙkj ds ihNs dk dkj.k crk;saA 
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 (h) Differentiate between flags, triangles and rectangles in the context of technical 

analysis. (Use diagram). 

  rduhdh fo’ys"k.k ds lanHkZ esa >aMs+] f=dks.k vkSj vk;rksa ds chp varjA ¼vkjs[k dk mi;ksx djsa½  

 (i) Explain the objectives of Foreign Exchange Management Act. 

  fons’kh eqnzk izca/ku vf/kfu;e ds mís’;ksa dh O;k[;k djsaA 

 (j) Define ‘Person’ under section 2 of Foreign Exchange Management Act, 1999. 

  fons’kh eqnzk izca/ku vf/kfu;e] 1999 dh /kkjk 2 ds rgr ^O;fDr^ dks ifjHkkf"kr djsaA 

PART – B @ @ @ @ [k.M[k.M[k.M[k.M& & & & cccc    

UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 What are the various types of Foreign Exchange Markets? Explain each with example. 

 fons’kh eqnzk cktkj ds fofHkUu izdkj D;k gSa\ izR;sd dks mnkgj.k lfgr le>kb;sA 

OR@@@@vFkokvFkokvFkokvFkok 

Q.3 Explain cross exchange rate. Consider the following information. The rate between 

Japanese yen and US dollar is USD/JPY = 119.05/121.95 and the rate between Euro and 

US$ is USE/EUR = 0.7920/32. Calculate the cross rate between EUR/JPY. 

 ØkWl ,Dlpsat jsV crk,¡A fuEufyf[kr tkudkjh ij fopkj djsaA tkikuh ;su vkSj US MkWyj ds chp 

dh nj USD/JPY = 119.05/121.95 gS vkSj ;wjks vkSj US$ ds chp dh nj USE/EUR = 

0.7920/32 gSA EUR/JPY ds chp ØkWl jsV dh x.kuk djsaA 

UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Explain each of the following with example – 

 (a) Fixed vs Fixed Swap 

 (b) Floating vs Floating Swap 

 (c) Fixed vs Floating Swap 

 mnkgj.k ds lkFk fuEufyf[kr esa ls izR;sd dks le>kb;s & 

 (a) fQDLM cuke fQDLM LoSi 

 (b) ¶yksfVax cuke ¶yksfVax LoSi 

 (c) fQDLM cuke ¶yksfVax LoSi 
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OR@@@@vFkokvFkokvFkokvFkok 

Q.5 A US Company which bought 100 million Australian dollar (A$) when the quote was 

$/A$ 0.72 is planning to sell it in 3 months’ time? The current spot rate is $/A$ 0.785. 

It is worried that the A$ may depreciates due to disappointing Australian conditions. It 

decides to hedge his exposure to Australia $ using options. A call option is available on 

$/A$ 0.8025 for 3 months at a premium of 0.007234$. Draft the hedge and show how it 

will materialize after 3 months when the rate would be $/A$ 0.8121. 

 ,d vesfjdh daiuh ftlus 100 fefy;u vkWLVªsfy;kbZ MkWyj (A$) [kjhnk Fkk] tc cksyh $/A$ 0.72 

Fkh] bls 3 eghus esa cspus dh ;kstuk gSA ekStwnk LikWV jsV $/A$ 0.785 gSA ;g fpafrr gS fd 

fujk’kktud ifjfLFkfr;ksa ds dkj.k A$ ewY; esa fxjkoV gks ldrh gSA ;g vkWI’kal dk mi;ksx djds 

vkWLVªsfy;k $ ds fy, vius tksf[ke dks gst djus dk fu.kZ; ysrk gSA 0.007234$ ds izhfe;e ij 3 

eghus fd fy, $/A$ 0.8025 ij dkWy vkWI’kUl miyC/k gSA gst dks MªkW¶V djsa vkSj fn[kk,¡ fd ;g 

3 eghus ds ckn dSlk gksxk tc jsV $/A$ 0.8121 gksxkA 

UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 A US firm recently imported a French machinery from its French supplier. The payment 

of € 40000 is to be made 3 months from now. The spot rate today is $/€ = 1.6. The US 

firm is worried about USD depreciating against the € which may affect its $ payments. 

What is the amount of Exposure? What kind of exposure is it called? Explain how can 

the US Firm manage its exposure by using currency futures if a futures contract on            

€ 37500 is available on the US stock exchange at an exchange rate of $/€ = 1.65. 

 ,d vesfjdh QeZ us gky gh esa vius Ýkalhlh vkiwfrZdrkZ ls ,d Ýkalhlh e’khujh dk vk;kr fd;kA 

€ 40000 dk Hkqxrku vHkh ls 3 eghus ckn fd;k tkuk gSaA vkt LikWV jsV $/€ = 1.6 gSA ;w,l QeZ 

USD ds ckjsa esa fpafrr gS tks € ds f[kykQ ewY;Okl dj jgk gS tks mlds $ Hkqxrku dks izHkkfor dj 

ldrk gSA ,Dlikstj dh jkf’k D;k gS\ bls fdl rjg dk ,Dlikstj dgk tkrk gS\ ;g crk,a fd 

;fn eqnzk € 37500 ij ok;nk vuqca/k $/€ = 1.65 ds fofue; nj ij vesfjdh LVkWd ,Dlpsat esa 

miyC/k gS] rks vesfjdh QeZ eqnzk ok;nk dk mi;ksx djds vius tksf[ke dk izca/ku dSls dj ldrh 

gSA 

OR@@@@vFkokvFkokvFkokvFkok 

Q.7 Explain the four methods used to manage translation exposure with examples. 

 mnkgj.kksa ds lkFk VªkUlys’ku ,Dlikstj dk izca/ku djus ds fy, mi;ksx fd, tkus okys pkj rjhdksa 

dks le>kb;sA 
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UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 A US investor is considering an investment in Australia. The manager has collected 

some preliminary market data. His investment horizon is 1 year. 

                                                           EXHIBIT  

  Current Spot Rate A$/$               1.2045 

  1-year Australia deposit rate        1.0% 

 ,d vesfjdh fuos’kd vkWLVªsfy;k esa fuos’k ij fopkj dj jgk gSA izca/kd us dqN izkjafHkd cktkj MsVk 

,d= fd, gSaA mudk fuos’k f{kfrt 1 o"kZ gS & 

                                    EXHIBIT  

  djaV LikWV jsV A$/$                     1.2045 

  1&o"kZ vkWLVªsfy;k dh tek nj      1.0% 

 If the current one year forward rate is presumed to be an unbiased estimate of the future 

spot rate what do you think should be the 1 year forward rate for A$/$? 

 ;fn orZeku ,d o"kZ dh QkWjoMZ nj dks Hkfo"; ds LikWV jsV dk fu"i{k vuqeku ekuk tkrk gS] rks 

vkidks D;k yxrk gS fd A$/$ ds fy, 1 o"kZ dk Q+kWjoMZ jsV gksuk pkfg,\  

OR@@@@vFkokvFkokvFkokvFkok 

Q.9 Elaborate, ‘Covered Interest Rate Parity is governed by arbitrage and uncovered interest 

rate parity is not governed by arbitrage’. 

 foLr`r dhft, ^vkPNkfnr C;kt nj lerk dks varji.ku }kjk fu;af=r fd;k tkrk gS vkSj [kqyk C;kt 

nj lerk varji.ku }kjk fu;af=r ugha gSA* 

UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 Under what transactions does we require the permission of Central Government to send 

and receive foreign exchange currency? 

 fdl ysu & nsu ds rgr fons’kh eqnzk fofue; Hkstus vkSj izkIr djus ds fy, gesa dsaUnz ljdkj dh 

vuqefr dh vko’;drk gksrh gS\ 

OR@@@@vFkokvFkokvFkokvFkok 

Q.11 Explain the treatment of foreign exchange fluctuations in all the three cases where 

Honorable Supreme Court of Indian gave the verdict.  

 rhuksa ekeyksa esa fons’kh eqnzk ds mrkj & p<+ko ds mipkj ds ckjs esa crk,¡] tgk¡ ekuuh; loksZPp 

U;k;ky; us QSlyk fn;kA 
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PART – C @ @ @ @ [k.M[k.M[k.M[k.M& & & & llll 

Q.12 WA currency dealer quoted a bid – offer price of 235.90 – 92 in  ¥/C$. Spot rate quotes 

in the interbank market are as follows – 

 WA eqnzk Mhyj us 235.90 – 92 in ¥/C$ dh cksyh & izLrko ewY; m)`r fd;kA baVjcSad cktkj esa 

LikWV jsV m)j.k bl izdkj gSa & 

  

 

 

 

 

 Is it possible to earn riskless profit using the interbank quotes available on the Interbank 

market and the dealer code on the Japanese Yen and Canadian Dollar? If yes, then how? 

 D;k baVjcSad cktkj ij miyC/k baVjcSad m)j.k vkSj tkikuh ;su vkSj dukMkbZ MkWyj ij Mhyj dksM 

dk mi;ksx djds tksf[ke jfgr ykHk vftZr djuk laHko gS\ ;fn gk¡] rks dSls\ 

Q.13 Comment on the statement, ‘The foreign exchange market never sleeps.’ 

 dFku ij fVIi.kh djsa] *fons’kh eqnzk cktkj dHkh ugha lksrk gSA* 

Q.14 Suppose you are a British investor holding a major stake in a tech start – up in US. As a 

UK resident, you are concerned with the pound value of your US equity position. 

Assume that if the American economy excels in the future, your stake will be worth        

$ 800,000 and the exchange rate will be $ 1.60/£. If the American economy experiences 

a downturn, on the hand, your stake will be worth $ 400,000 and the exchange rate will 

be $1.80/£. You assess the American economy will excel with a 70 percent probability 

and will fell with a 30% probability. 

 (a) Estimate your exposure to the exchange risk, 

 (b) Compute the variance of the pound value of your American equity position that is 

 attributable to the exchange rate uncertainty. 

 (c) How would you hedge this exposure? If you hedge what is the variance of the 

 pound value of the hedged position? 

Currency Pair Interbank Market Quote 
¥/€ 126.65/126.66 
€/$ 0.6682/0.6685 
€/C$ 1.8623/1.8628 
A$/C$ 1.0486/1.0489 
C$ - Canadian Dollars  
A$ - Australian Dollars  
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 eku yhft, fd vki ,d fczfV’k fuos’kd gSa tks vesfjdk esa ,d Vsd LVkVZ & vi esa ,d cM+h fgLlsnkjh 

j[krs gSaA ,d ;wds fuoklh ds :i esa] vki ;w,l bfDoVh fLFkfr ds ikmaM ewY; ls fpafrr gSaA eku ysa 

fd ;fn Hkfo"; esa vesfjdh vFkZO;oLFkk dk foLrkj gksrk gS] rks vkidh fgLlsnkjh $ 800,000 gksxh 

vkSj fofue; nj $ 1.60/£ gksxhA ;fn vesfjdh vFkZO;oLFkk esa eanh dk vuqHko gksrk gS] rks gkFk ij] 

vkidh fgLlsnkjh $ 400,000 gksxh vkSj fofue; nj $1.80/ ikmaM gksxhA vki vkdyu djrs gaS fd 

vesfjdh vFkZO;oLFkk 70 izfr’kr laHkkouk ds lkFk mRÑ"V gksxh vkSj 30% laHkkouk ds lkFk fxj 

tk,xhA 

 (a) fofue; tksf[ke ds fy, vius tksf[ke dk vuqeku yxk,¡A 

 (b) fofue; nj vfuf’prrk ds dkj.k vkids vesfjdh bfDoVh fLFkfr ds ikmaM ewY; ds fopj.k dh 

 x.kuk djsaA 

 (c) vki bl tksf[ke dks dSls jksdsaxs\ ;fn vki gst djrs gSa] rks gst fLFkfr ds ikmaM ewY; dk 

 fopj.k D;k gS\ 

Q.15 Last week, Ford was invited by Michael Wagle, a friend and a financial analyst, to advise 

him concerning an investment made in Canadian dollars. During their conversation, 

Wagle presented him the following information – 

 (a) C$/$ spot rate (mid – market): 0.856 

 (b) One – year Canadian deposit rate: 4.00$ 

 (c) One – year U.S deposit rate: 6.50% 

 fiNys g¶rs] QksMZ dks ekbdy okxys] ,d nksLr vkSj ,d foÙkh; fo’ys"kd }kjk vkeaf=r fd;k x;k 

Fkk] rkfd mUgsa dukMkbZ MkWyj esa fd, x, fuos’k ds ckjs esa lykg nh tk ldsA viuh ckrphr ds 

nkSjku] okxys esa mUgsa fuEufyf[kr tkudkjh izLrqr dh & 

 (a) C$/$ LikWV jsV ¼e/; & cktkj½% 0.856 

 (b) ,d lky dh dukMkbZ tek nj% 4.00$ 

 (c) ,d lky dh vesfjdh tek nj% 6.50% 

 Wagle added: “I am not sure how the C$/US$ exchange rate will change in the future, 

but I would like to generate an almost riskless profit on my one year investment in 

Canadian dollars. Would that be possible?” After reviewing the data Wagle presented, 

Ford made the following comments: 
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 Comment 1: “I expect the Canadian dollar to appreciate against the U.S dollar over 

coming year. According to my analysis, based on the difference between expected price 

inflation in US and Canada, the percentage change in the spot exchange rate will be 

4.50%”. 

 Comment 2: “Given the current one – year forward points U.S. dollar is trading at a one 

year forward discount of 3.50%”. 

 From the comments made by Ford and the information provided by Wagle, can a riskless 

profit be made? 

 okxys us dgk% ^^eq>s ;dhu ugha gS fd Hkfo"; esa lh $/;w,l $ fofue; nj dSls cnysxh] ysfdu eSa 

dukMkbZ MkWyj esa vius ,d lky ds fuos’k ij yxHkx tksf[ke jfgr ykHk mRiUu djuk pkgw¡xkA D;k 

;g laHko gksxk\^^ is’k fd, x, okxys dh MsVk leh{kk djus ds ckn] QksMZ us fuEufyf[kr desaV~l 

fd,A 

 fVIi.kh 1% ^^eq>s mEehn gS fd dukMkbZ MkWyj vkus okys o"kZ esa vesfjdh MkWyj ds eqdkcys c<+sxkA esjs 

fo’ys"k.k ds vuqlkj] ;w,l vkSj dukMk esa visf{kr ewY; eqnzkLQhfr ds vraj ds vk/kkj ij] LikWV 

,Dlpast jsV esa izfr’kr ifjorZu 4.50% gksxkA^^ 

 fVIIk.kh 2% ^^ekStwnk ,d lky ds vkxs ds fcanqvksa dks ns[krs gq, vesfjdh MkWyj ,d lky ds fy, 

3.50% dh fMLdkmUV ij dkjksckj dj jgk gSA^^ 

 QksMZ }kjk dh xbZ fVIif.k;ksa vkSj okxys }kjk nh xbZ tkudkjh ls] D;k tksf[ke jfgr ykHk dek;k tk 

ldrk gSa\ 

Q.16 Write short notes on (any two) – 

 (a) Difference between technical analysis and fundamental analysis. 

 (b) Capital account transaction vs current account transaction in FEMA. 

 (c) Liberalized remittance scheme 

 ¼fdlh Hkh nks½ ij NksVs uksV fy[ksa & 

 (a) rduhdh fo’ys"k.k vkSj ekSfyd fo’ys"k.k ds chp vraj 

 (b) FEMA esa iwath [kkrk ysunsu cuke pkyw [kkrk ysunsu 

 (c) mnkjhÑr jsehMsUl ;kstuk 

----------------------------------------- 


